DENEME 13.


1-22. sorularda cümlede boş bırakılan yerlere uygun

düşen kelime ya da ifadeyi bulunuz.

1-
It was necessary to …………  the factory building as the company was doing more and more business.


A)
extend 
B) increase 


C) 
lengthen 
D) grow


E)
decrease 

2-
These figures give you some idea of the cost of …………     your car for one year.

A)
controlling 
B) handling 

C) 
managing 
D) maintaining


E)
checking

3. 
The woman who was sitting behind us in the cinema was really _______ because she was talking too much. 




A) annoying

B) annoyed 

C) disgusted

D) teasing 

E) interrupting 


4. 
This course is losing its popularity. Now It has got only _______ students _______ it had before. 

A) so little / that
B) less / than 

C) fewer/ than
D) much more / than 

E) much / that 


5. 
Because the medicine is
_______ cheap enough _______ in great demand, huge profits can be made. 



A) neither / nor
B) so / that 




C) more / than
D) too / that 


E) both / and 


6.
_______the term, you haven't done anything. Just _______the final exams , it is ridiculous for you to study very hard. 




A) Before / after
B) Towards / at 

C) During / on
D) Throughout / before
 
E) from / then

7. 
Sorry, but I'm_______ tired _______ do any work today. 

A) so / as 
B) as / as

C) too / to 
D) more / than

E) the most / as

8. 
_______ the case was concluded it was clear that the Jud​ge would give the mother custody of the children.


A) Even though 
B) No sooner 


C) After 
D) Even before 


E) while

9. 
The US has some strange laws. For example, the government allows cigarette companies to advertise their products in magazines and newspaper, _______ it bans cigarette commercials on TV.


A) furthermore 
B) moreover 


C) yet 
D) in addition

E) but also 
10. 
He stopped_______ to answer the phone.


A) from writing 
B) to write 


C) write 
D) writing


E) being written

11. 
If everyone_______ smoking tomorrow, the number of hospital patients_______ halved.


A) gives up / would have been 


B) will give up / will be


C) had given up / would have been 



D) gives up / will be


E) gave up / would be

12. 
After the death of her parents, Lisa_______ in an orphanage.


A) bring up 
B) brought up 


C) was brought up
D) was brought 


E) has brought up

13. 
The percentage of working women_______  sharply over the last years mainly_______  economic reasons

A) are increasing / due to

B) has increased / because of

C) have been increasing / because 

D) increased / in spite of


E) are increased / despite
14. 
They _______ to build this motorway three years ago  and they still  _______ it. 


A) started / didn't finish 


B) started / haven't finished 


C) had started / didn't finish 


D) have started / hadn't finished 


E) were started / haven't finished

15. 
I'm glad_______ you are thinking of_______ fencing seriously.

A) hearing / to take up

E) to hear / to take up
C) hearing / taking up 

D) to hear / taking up
E) hear / take up

16. 
You_______ so much trouble with your car if you_______ it _______ regularly.

A) wouldn't have had / have / serviced 

B) wouldn't have / had / serviced.

C) will have / are having / serviced. 

D) don't have / got / service

E) didn't have / get / service

17. 
I_______ my next door neighbour to look after my pets, _______ I’m away on holiday.

A) am going to ask / when

B) was going to ask / as soon as 

C) asked / during

D) will ask / while

E) have asked / after

18.
His parents always hoped he_______ a 


successful doctor or lawyer after he_______


from college.


A) will be / graduates

B) would be / graduated


C) had been / graduates

D) was / graduated


E) is / will graduate

19. 
_______ number of husbands getting divorced from their wives_______ increasing day by day.


A) 
A great / are 
B) 
A / has been 

C) 
The / have been 
D) 
The / is

E) 
The / has to

20. 
I haven't seen Hakan _______ Monday morning, but I'm likely to see him_______ the afternoon today.

A) on / around 
B) in / toward 

C) at / before 
D) after / on

E) since / in
21-  
I need a hat for my daughter's wedding, but I'm finding it difficult to find one that...........my suit.
A) puts on                   
B) tries on
C) goes with                      
D) takes after
E) wears out
22- 
When the council decided to pull down the cattle market, they..........fierce opposition from farmers.
A) looked down on          
B) came up against
C) came up with            
D) went down with
E) cut down on
23. -27. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.

In order to make the first clock, man had to first divide the day into hours and minutes. The Babylonians were the first to (23) ....... the hour into 60 minutes and the minute into 60 seconds. The Egyptians created shadow clocks which later became sundials. Around 100 B.C. the first hourglass was used. These were usually timed for one hour. The Greeks and Romans later used water clocks which (24) ....... by the Chinese and were (25) ....... clepsydras. The first mechanical clocks were developed in Europe in the 1300's. These were improved and in 1656 a Dutchman designed the first pendulum clock, which was more (26) ....... than the other clocks of the time. (27) ....... World War II the atomic clock was developed and is still the world's most accurate clock. The quartz crystal clocks and watches that were developed in the 1960's and 70's are also extremely accurate, second in accuracy to only the atomic clock.

23-


A)
divide
B)
multiply


C)
combine
D)
show


E)
count

24-



A)
have been developed


B)
being developed


C)
had been developed


D)
had developed


E)
having being developed

25-


A)
calling
B)
to call


C)
being called 
D)
called



E)
have called

26-


A)
right 
B) accurate


C)
sound
D)
regular


E)
stable

27- 


A)
When
B)
While


C)
Being
D)
On


E)
After

28. -32. sorularda, aşağıdaki parçada numaralanmış yerlere uygun düşen sözcük ya da ifadeyi bulunuz.

On 11 March 1884, in Goren Balikesir, Omer Seyfeddin was born. (28) ....... his father was a military officer who was frequently relocated, Omer and his mother moved to Istanbul and settled there. The purpose of this separation from his father was to (29) ....... an education for Omer. After his education he worked (30) ....... a teacher for a few years and then entered the armed forces. He completed his military service in 1911, but during the Balkan Wars, he was recalled into the army. While fighting he was captured and imprisoned by the Greeks in 1913. A year later he returned to Istanbul and worked for a while as head writer of a major magazine. In 1914 he was appointed teacher in Kabatas High School and (31) ....... in this position until his death. The attraction of Omer Seyfeddin's stories (32) ....... his unique style and the fact that he used simple modern Turkish to write his stories. The wide assortment of his story topics was unusual and original for the writers of his day. He was a leader of modern Turkish literature who felt that a simple language style was necessary in writing.

28-


A)
After
B)
Due to the fact that


C)
Before
D)
When


E)
Besides

29-


A)
provide
B)
improve


C)
develop
D)
obtain


E)
establish

30-


A)
like
B)
so as to


C)
as
D)
such as


E)
so that

31-


A)
kept
B)
conserved


C)
remained
D)
suspended


E)
enabled

32-


A)
originated
B)
results in


C)
results from
D)
leads to


E)
stems from

33-42. sorularda yarım bırakılan cümleyi uygun 

şekilde tamamlayan ifadeyi bulunuz.

33. 
When you are out for the evening, _______.
A) 
did you lock up or secure all the ladders? 

B) 
have you fastened all the windows?

C) 
do you lock all the external doors and leave a light on in a front door?

D) 
did you always lock your bicycle when you left it? 

E)
was your car fitted with an anti theft device?

34. 
When London's fruit and vegetable market was moved away from the city centre, _______.

A) 
Covent Garden offers a huge variety, from high fashion clothing to handsome toys

B) 
for many the real attraction is the free entertainment 

C) 
shoppers are invited to take part in some way

D) 
the area was transformed to become one of the most interesting shopping centre in Europe.

E) 
don't stand too close if you don't want to be invol​ved.

35.
Of the many exciting events held at "fiestas" _______.


A) 
I was only a spectators in the cheering crowd

B) 
the running of the bulls is the most amazing I have ever seen.

C) 
it has to be said that by comparison it seems rather dull.

D) 
a good restaurant to go when you are in Barcelona. 

E) 
It’s on a narrow-gauge railway and travels a long the crest of the Andes Mountains.

36. 
When I returned to_______ , it wasn't there. 

A) the parking place

B) the place where I leave my car 

C) my work

D) the car park

E) where I had parked my car.

37. 
Carol wanted to know _______.

A) even if Henry had learned French at school 

B) that she has another piece of cake

C) he would write to her every week 

D) how he is coming to the party.

E) how long it would take to get to London

38. 
It’s obvious that she supports the president since _______.

A) 
she expresses her point of view in a composition

B) 
she's always saying positive things about his policies.

C) 
she has been working at two different jobs. 

D) 
the beginning of the campaign

E) 
there are different kinds of support that people can give

39.
_____who played a unique role in the revival of the ideals of classical antiquity.
A)  
Dr. Davies lectured on the Renaissance
B)  
There is still a lively debate going on among scholars
C) 
Leonardo da Vinci also lived in the Renaissance

D) 
He then went on to explain why such Renaissance figures
E)  
Petrarch is rightly regarded as a humanist
40.   
If your boss asked you to take on extra work without more pay,_____?
A)  why do you think he may have suggested this
B)   would you agree to do so
C)  have you discussed the matter with him
D)  will you resign at once
E)   what was the reaction of our colleagues
41.    Cars entail a great many expenses, .......
A) 
so it’s worth thinking carefully before buying one
B)  
unless one could get a sufficient loan from the bank
C) 
however essential they were thought to be in 
business life
D) 
so long as one doesn't use them excessively
E)  
in case a number of people cannot afford them
42.   
Though free politics and free market economics go most happily together, .......
A) 
one does not necessarily lead to the other, nor 

guarantee its success
B)  
they could no longer blame the colonialists, who had withdrawn from Africa two or three decades before
C) 
Africans have shown that they want multiparty 

democracy and are begin​ning to achieve it
D) 
no new aid would be approved for six months
E)  
five years ago, dictatorships proclaiming 


socialist policies prevailed in Africa
43. — 46. sorularda, verilen cümlenin hangi sorunun cevabı olduğunu bulunuz.

43-
 I think about 200 metres.



A)
How often do you go for a walk?


B)
How long will you stay in London?


C)
How can you climb this mountain?


D)
How tall are you?


E)
How far is the beach from here?                                       
44-
I'm afraid not. Can't you wear another one today?

A)
Have you seen my trousers?


B)
Shall I wear my new suit?


C)
We can have a holiday in Antalya, can’t we?


D)
Have you ironed my blue shirt?


E)
Would you mind if I wore my blue skirt?

45-
Well, it seems so, if everything goes as planned.

A)
Do you think  I can manage the English course?


B)
May I help you do your project?


C)
Do you think it will rain tomorrow?


D)
I’m sure the manager has forgotten the meeting.


E)
Do you think you'll be able to hand in your term paper in time?
46-
With a little cream, please.

A)
Would you like your coffee with or without 


cream?


B)
Would you like to drink tea?


C)
How would you like your lunch?


D)
I think you don’t mind if I drink a cup of coffee.


E)
Shall I go to the café and have tea?

47- 50. sorularda verilen Türkçe cümlenin İngilizce dengini bulunuz.

47. 
Hamilelikte sigara içen kadınlar, büyük olasılıkla bebek​lerini kaybetmekte ya da daha az kilolu bebek doğurmaktadırlar.

A) 
Women who smoke less in pregnancy may lose their babies or have babies weighing more.

B) 
Women who smoke in pregnancy are more likely to lose their babies or have babies with lower body weight

C) 
Women smoking during pregnancy have tendency towards losing or having fewer babies.

D) 
It is probable that women who smoke during pregnancy will lose their babies instead of having babies with lower body

E) 
It's unlikely that women smoking more during pregnancy will lose their babies or have babies weighing less
48. 
Sığınakları çok erken terk etmeye kalkışan olur diye, polis caddelerde devriye gezerken, doktor ve hemşire​ler hastanede kaldılar.

A) 
While the police were patrolling the streets, doctors and nurses stayed in the hospital in case someone should leave the shelters soon.

B) 
The police patrolled the streets so that some people would try to leave the shelters too soon, so the doctors and nurses remained in the hospital.

C) 
Doctors and Nurses remained in the hospital while the police patrolled the streets in case anyone tried to leave the shelters too soon.

D) 
The police patrolled the shelters in order not to let anyone who tried to leave too soon while doctors and nurses stayed in the hospital


E) 
Doctors and nurses remained in the hospital while the police patrolled the ones who tried to leave the shelters.

49. 
Ülkemizde, kural olarak, öğrencilerin okulda forma giymeleri beklenir.

A) 
In our country, as a rule, the students are supposed to wear a school uniform at school.

B) 
In our country, as a rule, the students must wear a school uniform at school

C) 
In our country, as a rule, students need to wear a school uniform at school.

D) 
In our country, as a rule, the students are said to 

wear a school uniform at school.

E) 
In our country, as a rule, the students are supposed to have worn school uniform at school.
50. 
Tim, Jane ile evlenmeden önce tam iki yıl boyunca ona evlenme teklif etti.

A) 
Tim will have been asking Jane to marry him for exactly hours by the time they get married.


B) 
It’s the second year since Tim asked Jane to marry him

C) 
Tim and Jane got married after Tim had been as​king her to marry him for exactly two years

D) 
Tim had been asking Jane to marry him for exactly two years before they got married

E) 
Tim persuaded Jane to marry him after he had been asking her to marry him for exactly two years.

51-54. sorularda verilen İngilizce cümlenin Türkçe dengini bulunuz.

51. 
In many parts of the world, workers have to work very long hours to earn their living.

A) 
Dünyadaki pek çok işçi, geçimini sağlamak için çok çalışıyor.

B) 
Dünyanın pek çok yerinde işçiler, geçimlerini sağlamak için çok uzun süre çalışmak zorunda kalıyorlar. 

C) 
Dünyanın pek çok bölgesinde, işçilerin geçimlerini sağlayabilmeleri ancak çok 



çalışmalarıyla mümkün olabiliyor.

D) 
Dünyanın pek çok yerinde işçiler, ancak çok uzun süre çalışarak geçimlerini sağlamak zorunda kalıyorlar.

E) 
Dünyadaki işçilerin çoğu, uzun süre çalışmak zo​runda kaldığı halde, geçimini ancak sağlayabiliyor.

52. 
Students must pay special attention to the questions if the result of an exam is of vital importance to them.

A) 
Bazı özel sınavlarda öğrenciler önemli miktarlarda harç ödemek zorunda kalıyorlar.

B) 
Bazı sınavların sonuçları çok önemli olduğu için, böyle sınavlarda öğrencilerin özellikle dikkatli olmaları gerekir.

C) 
Bir sınavın sonucu kendileri için hayati derecede önemli ise, öğrenciler sorulara özel bir dikkat göster​meliler.

D) 
Eğer hayati derecede önemli bir sınava girmişlerse, öğrenciler, özellikle son sorularda çok dikkatli olmalılar.

E) 
Çok önemli sınavlarda soruların ağırlığı öğrencile​rin özel bir dikkat göstermelerini gerektiriyor.

53. 
Many people keep complaining about the pollution and disorganisation in big cities, as though they have no part in this.

A) 
Birçok insan, sanki bunda kendilerinin hiç payı yok​muş gibi, büyük şehirlerdeki kirlilik ve düzensizlikten yakınır durur.

B) 
Büyük şehirlerdeki kirlilik ve düzensizliğin oluşmasında büyük payı olan insanlar bile bu durumdan yakınmaktadırlar.

C) 
Pek çok insan barındıran büyük şehirlerde kirlilik ve düzensizlikten yakınmayan insan neredeyse hiç kalmamıştır.

D) 
Büyük şehirlerde yaşayan pek çok insan kirlilik ve düzensizliğe karşı mücadeleye katılmak yerine yakınmayı tercih etmektedir.

E) 
Büyük şehirlerdeki kirlilik ve düzensizlikten yakınıp duran birçok insan, aslında bunda kendilerinin de payı olduğunu bilmelidirler.

54. 
The duty of forming the government is primarily given to the party which has received the most votes.

A) 
Bir partinin hükümeti kurmakla görevlendirilebilmesi için oyların çoğunu alması gerekir.

B) 
Yasal olarak, en çok oy alan parti hükümeti kurma görevini hak etmiş demektir.

C) 
Yasaya göre hükümeti, en çok oy alan parti kurar. 

D) 
Hükümeti kurma görevi öncelikle en çok oy alan partiye verilir.

E) 
Oyların çoğunu hangi parti almışsa hükümeti kurma görevi onundur.

55-57. soruları verilen parçaya göre cevaplayınız.

The so-called wonder-drug "Kural" which some doctors have been prescribing as a pain-killer, has been ban​ned by the Department of Health. After extensive clinical trials over a number of years the drug has been found to produce alarming side-effects. "Kural" which the manufacturers say that it produces almost miraculous results, is certainly very effective as a painkiller. Unfortunately the drug seems to speed up the ageing process, which leads to premature hair lost, stiffening of the joints, loss of memory and eventually, premature senile dementia.

55.
"Kural has been banned by the Department of Health because _______.

A) 
some doctors have been prescribing it as a pain-killer.

B) 
it produces almost miraculous results. 

C) 
it is very effective as a pain-killer

D) 
the tests have shown that it has worrying side-effects.

E) 
it seems to slow down the ageing process.

56. 
According the passage one of the side effects of Kural is the fact that _______.

A) it slows down the ageing process 

B) it leads to premature death

C) it causes loss of memory

D) it produces almost miraculous results. 

E) it leads to balding at the age of 70s

57. 
Typical results of the premature ageing due to "Kural", according to passage, are _______.



A) 
temporary weakness in mind - loss of memorial 



B) 
early balding - becoming hard of the bones -



entering second childhood period early


C) 
temporary dotage - run out of memorable things. D)
 temporary balding - backache - cough


E)
 headache - stomach-ache - spots on the face

58-60. soruları verilen parçaya göre cevaplayınız.

A state judge in Texas, Charles J. Hearn, has been adding a happy face to his signature for years, on Cheques, on his driver's licence and on the thousands of legal documents he signs as part of his job. Now, his signature is on an execution order informing a state prisoner of the date he is to die -Robert Nelson Dew. The judge insists he meant no disrespect. "It's just a signature like yours or anyone else's" he said. "It's simple. I’m a happy person. You have got to be a happy person." But Mrs. Dew's lawyer, Mr. Kunster, said he and his client interpreted the smile as mockery, and planned to ask for a new trail. "It's like"  he is saying; “ Have a nice death.”

58.
It’s clear from the passage that Charles J. Hearn _______.

A)
 has never been able to get a driver's licence

B) 
always hesitated to put his signature on legal documents.

C) 
has never been on side of state prisoners 

D) 
used to wear a strange smile all the time


E) 
has been using a rather unusual signature for years.

59. 
The happy smile on the signature of C. J Hearn _______.

A)
 isn't easy enough to recognise at fırst sight

B) 
saved the life of a prisoner who was sentenced to death

C) 
was considered quite indecent by Robert Melso's lawyer

D) 
highly impressed the other Judges in Texas

E) 
prevented Mr. Kunster from reopening the trail.
60. 
According to the passage, it is true that ______.

A) 
Judges in the US are usually happy people

B) 
lawyers in Texas should have no right to sign any document.

C) 
the happy face signature of a Judge amused everyone in Texas

D) 
Robert Melson felt being made fun of by the Judge's funny signature.

E) 
Judges are not considered respectful people in Texas

61-63. soruları verilen parçaya göre cevaplayınız.

Our need for water is constantly increasing. There is an automatic increase due to population growth, the irrigation of more land for food production and the creation and expansion of new industries, all foretell

the need for even greater water supplies throughout the world. Though it is difficult to calculate the exact amount, it is safe to say that in 20 years time the demand for water will be roughly double. Faced with such a situation it is obvious that we should search as widely as possible and with every available means for sources of fresh water that seem to be the least costly. But where do these sources exist? Only a sustained and co-ordinated programme of scientific ….

61.
The writer points out that in 20 years time, ____.

A) 
we'll be able to find more resources of water. 

B)
 the need for water will be met easily

C) 
all water supplies throughout the world will dry up 

D) 
we'll need twice as much water as we do now.

E) 
industries won't need water.

62. 
All possible means for new sources of fresh water must be used _______.

A) 
so that we can irrigate more land

B) 
in order for us to avoid the problem of water supply 

C) 
to increase the food production

D)
for the expansion of new industries

E) 
to calculate the amount of water to be need in the future

63. 
New sources of fresh water _______.


A) can not be found by means of hydrology

B) should be as wide as possible

C) must be cheap

D) are to be avoided by co-ordinated programme

E) may cost a lot of money

64-66. soruları verilen parçaya göre cevaplayınız.

In the 19th  century each boat was made by hand, and ownership of a sailing yacht or another pleasure boat was restricted to the rich. The advent of aluminum and fiberglass as construction materials, however,

introduced the advantages of mass production, and for the first time boat owning became a possibility for large numbers of people. As a result, the numbers of available boat styles. sizes. and types multiplied. Some can even fold to be carried overland and thus complete with a whole range of inflatable rubber boats, once used as emergency life rafts now popular for rowing, out-boarding, and even sailing.

64.
According to the passage, nowadays _______.

A) 
hand-made boats are too expensive except for the rich

B) 
rubber boats are most commonly used as emergency life boats

C) 
fibreglass is the most suitable material used in boat making

D) 
boats are affordable for more people compared with the past

E) 
rowing boats are not as popular as they used to be.

65. 
One can infer from the passage that the use of aluminium and fibreglass in boat-making _______.

A) 
helped to produce boats more cheaply

B) was the biggest invention of the 19th  century 

C) was not very economical for mass production 

D) started in the first half of the 19th  century

E) was only restricted to the wealthy.

66. 
The change in the material used in boat-making _______.

A) 
also made it possible to produce different types of boats in different sizes

B) 
was the result of a demand for bigger boats 

C) 
enabled people to make long-lasting boats

D) 
proved most beneficial for producing emergency life boats

E) 
contributed to the economy of the countries invol​ved in the sector

67-69. soruları verilen parçaya göre cevaplayınız.

When people feel anxious they tend to become aggressive - especially when they work in groups:

indeed, much of the irrational behaviour we are witnessing in present-day society stems from a feeling of fear and insecurity. The speed of change is lessening traditionally felt confidence. As technology advances, more knowledge and more skills become out-of date. and this rapid change makes the skills already acquired invalid. This economic and social instability creates uneasy people, especially among young adults, who are critical of their elders' failure.

67.
When a person has a feeling of anxiety ________ .

A) he can have difficulty being on good terms 

B) he should try to keep pace with his age

C) he has to learn new skills

D) his former skills become invalid

E) he witnesses his environment changing

68. 
As a result of the technological advance ________ .

A) 
people become more skilful

B) 
it is inevitable for the young to have a higher education

C) 
the need for skill is lessening

D) 
there have been great changes in economic and social conditions

E) 
people can live in comfort now

69. 
The rapid change in working conditions makes the previously gained skills ________ .


A) insecure 
B) uneasy 


C) useless 
D) anxious 


E) critical

70-72. soruları verilen parçaya göre cevaplayınız.

Death comes quickly in the mountains. Each winter holidaymakers are caught unawares as they happily ski away from the fixed runs. Little do they realise that a small avalanche can send them crashing in a bone-breaking fall down the slope and leave them buried under tons of crisp white snow. They can
avoid disaster only if they ski on the marked ski slopes. Otherwise there might be disaster. The snow in the Salzburg Area of Austria where a recent disaster took place was typical avalanche material. Early winter snow was wearing thin and covered with ice. On top of that new, warmer flakes were gently failing to produce a dangerous carpet.

70.
Holiday makers in the mountain come face to with de​ath each winter because they ________ .

A)  fail to realise how dangerous avalanches can be B)  are not expert enough at skiing on fixed runs.

C) 
are trying to avoid areas where avalanches happen 
D) 
ski great distances down the mountains

E) 
are willing to commit suicide

71. 
Before the accident happened the skiing conditions in the Salzburg area were ________ .

A) 
perfect for the inexperienced skier

B) 
unsafe because the new snow was covered with ice

C) 
typical of conditions resulting in avalanches 

D) 
suitable only for skiing locally

E) 
rather hot for the skiers to be able to ski

72. 
Although accidents do happen, skiers will be reasonably safe if they ________ .

A) stay on the officially approved slopes 

B) ski only for pleasure

C) ski only at resorts

D) choose less crowded ski slopes 

E) choose unknown slopes

73-75. soruları verilen parçaya göre cevaplayınız.

For an exciting holiday destination, few cities can compare to New York. From fashionable Fifth Avenue to the run-down and frightening ghettos of the Bronx, New York is a city of spectacular contrasts. However alarming it may seem, it is worthwhile wandering the streets on your own to get a feeling for the characteristic areas of the city. Of course it is advisable to use your common sense. You should be cautious when approached by strangers, and always keep in mind that violence is prevalent and that acting  unafraid is the best protection against attack. Keeping this in mind, you can be assured of having a marvellous time. 

73-
It is stated in the passage that ……………


A)
you can hear the alarming police and ambulance cars


B)
many cities can compete with New York as a holiday destination


C)
New York is the most famous city in the USA for holiday 


D)
if you want to walk alone in New York you’d better be sensible


E)
you can have marvellous time when you walk in the streets of New York at nights.

74-
One can infer from the passage that ……………


A)
in big cities one should keep in mind that there is widespread violence so he must act unafraid against attacks.


B)
people had better always take the prevalent violence into consideration in big cities.


C)
if you want to have a marvellous time you can go to New York for holiday


D)
it is advisable that one use common sense when there is an attack at the ghettos of the Bronx.


E)
strangers approach and beg money from you at the ghettos.

75-
The author states that New York is a city of


spectacular  contrasts ……………


A)
because suburbs of the city is very poor and people sell drugs to earn their living.


B)
but it is worth walking in the streets to experience characteristic areas of the city.


C)
and it seems alarming, so that nobody can wander at nights


D)
so you notice the differences between the areas if you wander the streets on your own.


E)
almost all the big cities have both advantages and disadvantages

76-80. sorularda verilen cümleye en yakın seçeneği bulunuz

76.
Some people can no longer buy even their essential needs after the recent increase in prices.


A) 
It is essential for people to be able to buy the necessities even after the recent rise in prices.

B) 
The recent rise in prices has made it impossible for some people even to buy the fundamental things they need

C) 
People should have bought their fundamental ne​eds before the prices went up.

D) 
Since the recent rise in prices, some people haven't been able to buy anything, but the most essential things.

E) 
Even after the rise in prices, some people can still afford their essential.

77. 
There is a close link between the individual's course of conduct and the social environment he has grown up in.

A) 
An individual can't behave properly if he has grown up far from the society.

B) 
A normal individual tries to be respectful to the moral values of his society.

C) 
A person shouldn't change his social environment until he becomes grown up.

D) 
A member of a society knows how to behave in his own environment

E) 
A person's behaviour is greatly affected by the values of the society he has been a member of

78. 
The white fur of the polar bear is a natural camouflage for it in its habitat.

A) 
Living in an environment the same colour as its fur, the polar bear doesn't need to camouflage itself.

B) 
A polar bear needs camouflage when it leaves its environment.

C) 
Because everywhere in the polar region is white, it is no easy matter to notice a polar bear until it is near enough.

D) 
Like for many other species of animals which have to defend themselves against their enemies, camouflage is quite natural for a polar bear.

E) 
Naturally, a polar bear has to camouflage itself in its environment in case of attack.

79. 
It was only its cheapness that made us decide to stay at that hotel.

A) 
we weren't impressed by the service at the hotel, though it was very cheap

B) 
We had decided to choose the cheapest hotel in the area.

C) 
Although it was quite cheap, the hotel was just to our liking.

D) 
We would have liked the hotel better if only it had been cheaper.

E) 
We were attracted to choose that hotel merely due to its low price.

80. 
Not booking in advance for a concert can mean you won't get a ticket.

A) 
Not book for a concert in advance, otherwise you won't get a ticket.

B) 
You can get a ticket as long as you book for a concert beforehand.


C) 
If you don't want to get a ticket, don't buy a book 



in advance
D) 
Getting a ticket for a concert always requires not booking in advance

E) 
You should buy a book before you go to buy a tic​ket for a concert.

81-85. sorularda paragrafı uygun şekilde tamamlayan ifadeyi bulunuz.

81.
Farmers were trained in the skills needed for efficient farming they learned to use farm tools and equipment and good husbandry techniques. ....... . The farmers were also shown how better conservation of the land can stop soil erosion.

A) 
They store the food they produced to prevent waste.

B) 
Farmers understood to be well educated.

C) 
To keep the conversation better the farmer risked their crops

D) 
The farmers were shown how to use crop rotation to prevent the land from becoming impoverished

E)
 We are on the brick of an agricultural future

82. 
Taken in modest amounts, caffeine found in 

coffee may help some people to work more efficiently. ....... More than two cups of coffee a day can cause unpleasant symptoms such as nervousness, irritability, stomach pain and insomnia.

A) 
That is why some people drink coffee all day long. 

B) 
Moreover, some people prefer tea.

C) 
However, excessive indigestion of caffeine can cau​se several unhealthy side effects.

D) 
It’s better to drink coffee in the mornings than in the evening

E) 
Children should not be allowed to drink coffee.
83. 
....... . The problem is immense and complex. Many people in undeveloped countries don't wish to have fewer children. Effective birth control are largely unknown in these countries. The programs concerning birth control are often inefficiently operated.

A) 
Governments of some underdeveloped countries are desperately attempting to curb population growth, with little success.

B) 
Developed countries usually have zero population growth.

C) 
At the present time the world population continues to grow at a speedy pace.

D) 
Death rate always exceeds birth rate in undeveloped countries.

E) 
Unemployment and the fast population growth in underdeveloped countries are two major problems.
84. 
There are mixed feelings in Britain about the possible risk of eating beef. Some refused to eat beef as early as the 1980s, when the problem of 'Mad Cow' disease was first discovered. Others feel the risk of contracting Creutzfeidt-Jakob disease, the human form of the disease ______. Somewhere in between these two

extremes are those who cautiously avoid beef 


on the bone and processed products, which 


pose a higher risk.


A) 
is so slight that they continue to eat beef 



products as before


B) 
has led to a ban on British beef exports

C) 
is so high that they have stopped eating beef 



completely

D) 
is not only from cattle, but also from sheep and 



goats

E) 
has put them off eating beef products

85. 
Inventions and developments in all fields have made life what it is today. Modern people find themselves with something their ancestors 


rarely knew leisure time. _______. Washing-machines, vacuum cleaners, dishwashers, refrigerators, electric cooking  utensils and kitchen work more pleasant and much less time

consuming for her.


A) 
Furthermore, there are so many gadgets with which they can entertain themselves.


B) The housewife is no exception


C) 
This is  as a result of all the labour-saving devices now available


D) 
The days of having to do everything manually 



are gone forever


E) Though filling it isn't always easy.

86. 90. sorularda verilen durumda söylenebilecek sözü bulunuz.

86.
You are in a town when you realise that your watch has stopped. You are supposed to be meeting someone at 12 o'clock, so to check that you are not already late, you say to a passer-by:

A) 
Excuse me, but do you know what time the watchmaker's opens?

B) 
Have you ever seen the clock on the town hall? It’s the finest in the country.

C) 
How much longer do you think it will be before it starts raining ?

D) 
You wouldn't happen to have the time, would you? 

E) 
Do you know how to get to Time Square from here?

87. 
You are driving up a hill on a lovely hot day. On the way up, you see a cyclist looking very hot and tired. You know there aren't any shops for miles, so at the top you stop and wait. As he pulls up, you offer:

A) The view from here is amazing, isn't it?

B) I'll race you to the next hill. Do you agree?

C) 
You should have learnt how to mend a puncture.

D) 
Could you help me push my car? It’s just broken down.

E) 
Would you like some water? I've got a bottle in the boot.
88. 
Looking out to sea, you notice that it is covered in thick fog. You want to go across to the island, but it looks as if this might not be possible to find out, you go to the harbour and say:

A)
I wouldn't like to be a fisherman in this weather.

B) 
Are the ferries running or have they been cancel​led?

C) 
I'm going to the island but if I don't come back, raise the alarm.

D) 
Have you ever seen such thick fog?

E) 
I should imagine that the telephone lines on the is​land aren't working.

89. 
You have a medical condition which prevents you from drinking alcohol. When you are offered some sherry before dinner, you say:

A) 
I'm sorry. I only drink sherry as a digestive.

B) 
Since my mother died of alcohol poisoning. I haven't touched the stuff.

C)
I don't think the taste goes very well with fish and cabbage.

D)
I can't mix alcohol with these pills. I'm afraid. 

E) 
If I drink too much, I'll end up being sick.

90. 
While hiking in the countryside one day, you see your friend on a horse. Knowing that you're quite scared of horses, but wanting to encourage you not to be, she gets down and says:

A) 
Don't come too near or she might kick you.

B) 
Shall I take my horse away as I know you don't like them?

C) 
Come and meet Apple. She really likes being stroked like this.

D) 
Let’s swap! I'll take your car and you can ride my horse back to the farm.

E) 
Horses are strange. You never know what they're going to do next.
91-95. sorularda kar;ılıklı konu;manın boş bırakılan bölümünde söylenmiş olabilecek sözü bulunuz.

91.
Daniel 
: I don't understand this grammar. 




Where is the subject in this sentence?


Peter 
: _______

 
Daniel 
: So, do we know who actually killed 




the boy ?


Peter 
: No, we don't, but this grammar 




structure shows that it doesn't matter.

A) 
There isn't one. It's in the passive voice.

B) 
I can see that you need to revise this unit again. C) 
Have you fınished the homework that I set you 


last week?

D) 
Your brother was supposed to lend you the 


notes to go with this lesson.

E) 
Don't ask me; I have no idea about the English grammar.

92. 
Eustace 
: Do you have time to go and pay the 




telephone bill tomorrow? 


Bernard 
: _______.


Eustace 
: Yes, after that they'll cut the phone 




off, if we don't.

A) 
Certainly, Shall we pay by cash or by cheque? 

B) 
I'm afraid not; I'll have to be in the office all day. C) 
Why? Is that the last day we can pay it?

D) 
I've already paid it, so there's nothing to worry abo​ut.

E) 
Can't you go instead of me? You know how I hate queues!
93. 
Jerry 
: I'm so tired ! I could really do with a 




cup of tea.


Margo
: _______ 


Jerry 
: Thanks very much. I have mine with 




two sugars.

A) 
Could you make one for me while you’re in the kitchen?

B) 
I'll make you one if you like. I'm making one for myself, anyway.

C) 
Do you know that the main ingredient causes cancer?

D) 
How about going to the cinema after that? I've been inside all day.

E) 
You're so thoughtless! Doesn't it ever occur to you that I also might be tired?

94. 
Deirdre 
: I've got a flat tyre. Have you got a 




pump?


Simons 
: _______


Deirdre 
: That’s perfect. The valve on my 




mountain bike is the same!

A) 
Sorry, I don't have a pump  or a bike for that mat​ter!

B) 
You could ask my neighbour, She's got a bike. C)
 I’ve only got a foot pump for cars, I'm afraid.

D)
 I really like your protective mudguards.

E)
 I can give you lift to the nearest garage if you 


like.

95. 
Sarah 
: When are you going on holiday to 




Spain?


Robert 
: At the end of July. 


Sarah 
: _______


Robert 
:Maybe we could meet up    somewhere, in that case.

A) 
You're so lucky! We're not having a holiday this year.

B) 
We were thinking of going to North America. 

C) 
Don't forget to send us a postcard, will you? 

D) 
I hope you won't go and see a bullfıght!

E) 
Oh really? That’s when we're going.

96. 100. Sorularda paragrafa uygun cümleyi bulunuz.

96.
(I) Most of the people who appear most often in the history books are great conquerors and generals and soldiers. 


(II) Whereas the people who really helped civilisations forward are often never mentioned at all. 


(III) We teach our children all about the killers and destroyers. 


(IV) In all cities you can see the monuments of these conquerors, soldiers generals. 


(V) People must visit these monuments and appreciate them.

A) I              B) II             C) III               D) IV          E) V

97. 
(I) Various organisations for natural protection are founded. 


(II) The balance of nature is a very elaborate

and delicate system of checks and 


counterchecks. 

(III) New organism evolve, climates change and animals permeate to new areas. 


(IV) These alterations have
been slow, natural and perfect.


 (V) Nature has balanced itself till now.

A) I              B) II             C) III               D) IV          E) V

98. 
(I) The selection of reading materials can be complex and troublesome. 


(II) Even to such an extent that some readers can give up reading. 


(II) The cover of the book must be accepted as one of the most important criteria. 


(IV) The person who devotes his time to worthwhile re​ading must choose his books deliberately. 


(V) He must inquire into his own needs and interests as he buys a book.

A) I              B) II             C) III               D) IV          E) V

99.
(I) The presence of music has long been known to have a positive effect on supermarket sales. 


(II) A wide range of products, including music cassettes and CDs, are now available in most supermarkets. 


(III) Now it has been discovered that varying the tempo of music in stores can affect the speed at which a customer shops.


(IV) When the shop is packed, the tempo of the music can be speeded up to encourage shoppers to move quickly through the store. 


(IV) Similarly, slow music can be played, thus facilitating browsing.

A) I              B) II             C) III               D) IV          E) V

100. 
(I) Colours are believed to have a strong effect on our behaviour 


(II) Our choice of colour, similarly, is considered to reflect our personality. 


(III) For example blue is often identified with a melancholic mood. 


(IV) So, it is easy to understand why blue is the 


most commonly used colour for bedrooms. 

(V) However, its lively tones, such as turquoise, may have a cheering effect.


A) I              B) II             C) III               D) IV          E) V
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